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1) PART A General Paper

Question No. 1/ Question ID 2002 Marks: 2.00




The following table shows the number of employees working in five different companies A-E in December, 2021 along with the
percentage distribution of Science, Commerce and Arts Graduates among them. Based on the data in the table. answer the questions that

tollow.

Company-wise Details of Employees

Company Number of [Percentage (%) Distribution of Graduates in
* |Emplovees [Science Commerce Arts

A 2100 32% - =

B 1400 - 31% 40%

|C - 30% 30% -

D - - 40% 20%

E - 35% 50% -

Note: (1) Employees of all the five companies can be categorised only in three types of Graduates. namely, Science, Commerce and Arts

(2) Some values are missing in the table (indicated by'-") that you are expected to calculate if required

In company E. if the average number of employees who are Graduates in Arts and Commerce 1s 377, then the number of employees in

company E 1s

. 1120
. 1160
. 1320
. 1360

b =

[ 5]
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. 1120
. 1160
. 1320
. 1360
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4
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Question No. 2 / Question ID 2004 Marks: 2.00




The following table shows the number of employees working in five different companies A-E in December, 2021 along with the
percentage distribution of Science, Commerce and Arts Graduates among them. Based on the data in the table. answer the questions that

tollow.

Company-wise Details of Employees

Company Number of [Percentage (%) Distribution of Graduates in

* |Emplovees [Science Commerce Arts
A 2100 32% - =
B 1400 - 31% 40%
|C - 30% 30% -
D - - 40% 20%
E - 35% 50% -

Note: (1) Employees of all the five companies can be categorised only in three types of Graduates. namely, Science, Commerce and Arts

(2) Some values are missing in the table (indicated by'-") that you are expected to calculate if required

In Company B. if the number of employees increased by 20% from December 2021 to December 2022 and 20% of the total number of
employees in December 2022 are Science Graduates. then the number of employees who are Science Graduates in December 2022, is .

. 588
. 532
. 336
. 504

b =

e Taa
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2. 532
3. 336
4. 504
O 1
1

O 2 (Chosen Option)

2 (Chosen Option)
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3

O 4
4
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The following table shows the number of employees working in five different companies A-E in December, 2021 along with the
percentage distribution of Science, Commerce and Arts Graduates among them. Based on the data in the table. answer the questions that

follow.

Company-wise Details of Employees

Company Number of [Percentage (%) Distribution of Graduates in

- |Emplovees [Science Commerce Arts
A 2100 32% - =
B 1400 - 31% 40%
|C - 30% 30% -
D - - 40% 20%
E - 35% 50% -

Note: (1) Employees of all the five companies can be categorised only in three types of Graduates. namely, Science, Commerce and Arts

(2) Some values are missing in the table (indicated by'-") that you are expected to calculate if required

In company A. if the ratio between the number of employees who are graduates in Commerce and Arts 1s 10:7, then the number of
employees who are graduates in Arts in the same Company 1s.

- 532
. 588
. 360
. 616

b =

[ 5]
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1..532
2. 588
3. 560
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O 1
1

O 2 (Chosen Option)

2 (Chosen Option)
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3

O 4
4
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The following table shows the number of employees working in five different companies A-E in December, 2021 along with the
percentage distribution of Science, Commerce and Arts Graduates among them. Based on the data in the table. answer the questions that

tollow.

Company-wise Details of Employees

Company Number of [Percentage (%) Distribution of Graduates in

* |Emplovees [Science Commerce Arts
A 2100 32% - =
B 1400 - 31% 40%
|C - 30% 30% -
D - - 40% 20%
E - 35% 50% -

Note: (1) Employees of all the five companies can be categorised only in three types of Graduates. namely, Science, Commerce and Arts

(2) Some values are missing in the table (indicated by'-") that you are expected to calculate if required

In company B. the difference between the number of employees who are Graduates in Arts and Graduates in Science 1s.

. 174
178
. 154
. 146

| S

e Laa




fafofad e © TR 2021 5 A-E 5 3@ (@7 SU-dl B Sid SHadl ©f 3387 3R 394 ¥ a3, aifirsy 3k &an
WIdes! o1 ufaed faaor sxifar mar g | difere § fU st & R R 41 fau usl & gav i

e ! HTP! P1 IR [GaR

EEIGRCINE] Gl
A 2100 3295 = S
B 1400 - 31% 4004
IC 2 30% 30% =
IB] - - 4024 2004
I 2 35% 50% =

feouft: (1) Wit oig Su=ial & HeERal @ dH TeR S wae! sfd faFm. Tt ok s & § avffed s o v g
(2) TTfcTepT § 9 OF =5l [Gd T § (- & 20 § Yalid) [9e! Ut axgedi-aR TTUH] &1 6

HU-1 B . T Fa® IR GFF Wae sHand @ T H feder s g2

.174
. 178
. 154
146

bJd =
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Question No. 5/ Question ID 2005 Marks: 2.00




The following table shows the number of employees working in five different companies A-E in December, 2021 along with the
percentage distribution of Science, Commerce and Arts Graduates among them. Based on the data in the table. answer the questions that

follow.

Company-wise Details of Employees

Company Number of [Percentage (%) Distribution of Graduates in
- |Emplovees [Science Commerce Arts

A 2100 32% - =

B 1400 - 31% 40%

|C - 30% 30% -

D - - 40% 20%

E - 35% 50% -

Note: (1) Employees of all the five companies can be categorised only in three types of Graduates. namely, Science, Commerce and Arts

(2) Some values are missing in the table (indicated by'-") that you are expected to calculate if required

If the number of employees in company D 18 3 times the number of employees in Company C and the difference between the number of
employees who are Arts Graduates in company D and that in company C is 480, then the number of employees in company C 1s

. 2880
. 2640
. 1800
. 2400

b =

[ 5]
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1. 2880
2. 2640
3. 1800
4, 2400
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United Nations conference on Environment and Development that was held in 1992 at Rio de Janeiro 1s also known as

1. Ozone Summit

2. Conference on human environment
3. Earth Summut

4. Conterence on wetlands
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According to NEP 2020, as a response to contemporary global challenges 'Global Citizenship Education’ will be provided to learners to
become active promoters of societies?

A. tolerant

B. peaceful
C. inclusive
D. secure

E. sustainable

Choose the most appropriate answer from the options given below:

1.B. C and E only
2. Aand C only
3.A;BC.Dand E
4.B. D and E only

T 5 U1 2020 & SFHR SHPIA dige TAIfagl Bt srfoar o fRienfeal o 9 o 9 &3 916l o1 9l ade a1+ o oy dfye
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A. Higy
B. Tiferguf
C. A9
D. P&
E. §YRUg
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Question No. 8 / Question ID 2033
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Given below are two statements:
Statement I: A cookie is a packet of information sent by a web browser to a web server.
Statement IT: Spam can 'clog up' a user's inbox with unwanted emails; it can also lead to phishing attacks.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement I[ are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s tiue

= 3l Py AT U &

DY T: PP dd FIFoR GRT dd a2 Dl U 7141 I B U Ude g |

HUF 11 TH YOI & 5810 DI SATS-1g Hdl ° offH (GeF-30) TR T&dl ¢, 599 [BIRAT 3memau +f 8 9@d g
SIRIdd DY & 3HTcliep o, i< U T fdpedl T I Fad Sugdd 3o &I 94 DIflT:

HYTIIR NEA 98

HYT AR 1 aH FTIT |

. PYT 1 9 . AfbT PYUT 11 3T &
HYF I AT B, Al PUT I T &

O 1 (Chosen Option)
1 (Chosen Option)

O 2
2

O 3

| SR

ML ]




O

A Db W

Question No. 9 / Question ID 2007
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Ms. Smith wants to create a mind-map for her students to understand the different parts of flowers. Which of the following tools would be
most suitable?

A. Miro

B. Coggle

C. Podcat

D. Mindmeister
E. Edpuzzle

Choose the correct answer from the options given below:

1. C. D and E only

2. Aand D only

3. A.B and D only

4. C and E only
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Question No. 10 / Question ID 2011 Marks: 2.00
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Which among the following 1s NOT a type of Longitudinal Research?

. Cross-sectional study 1. HidHeTdS srea
. Trend study 2. YA g

. Prospective study 3. Yiawgciall sremg

. Cohort study 4. g0 3H{aa+

1 (Chosen Option)
1 (Chosen Option)

R N R S
o O O O
BAWW NN
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If the radius of a circle 1s increased by 10%. 1ts area will increase by-

10%
100%
20%
.21%

i fodl g ol BT B! 10%, 9¢71 401 SIdl &, dl 39d &9%d 4 [+l gfg g

B2

e L

. 10%

. 100%

. 20%

. 21%

1 (Chosen Option)
1 (Chosen Option)
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According to NEP 2020, assessments of educational approaches in undergraduate education integrating humanities and arts with which of
the following disciplines have consistently shown positive learning outcomes?

A. Science

B. Mathematics
C. Technology

D. Mass Media
E. Engineering

Choose the most appropriate answer from the options given below:

1. A.B. C and E only
2.B and C only

3. A.D and E only

4. C.D and E only
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Question No. 13 / Question ID 2037 Marks: 2.00

fRRASYA SraaTe! o1 wa 4 § ¥ s Fafa o= & g fvar o 82

Electrostatic Precipitators are used to control

1. Air Pollution ,1} % i
2. Water Pollution iig
3. Soil Pollution 3. Hal Hg
4. Noise Pollution 4. & EELL
O 1
1
O 2
2
O 3
3
O 4 (Chosen Option)
4 (Chosen Option)

Question No. 14 / Question ID 2009 Marks: 2.00




The brain system that provides temporary holding and processing of information to accomplish complex cognitive tasks such as language
comprehension, learning. and reasoning: the information that you are focusing on at a given moment. 1s concerned with

. Episodic memory

. Working memory

. Semantic memory

. Short-term memory
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Question No. 15/ Question ID 2012 Marks: 2.00




Which among the following are correct statements about an independent variable?

A. It can have at most two levels.
B. It can have any number of levels.
C. It can be qualitative variable.

D. It can be a quantitative variable.

Choose the correct answer from the options given below:

.A. Cand D only
.B. Cand D only
.B and D only

.A. B and D only
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Question No. 16 / Question ID 2025 Marks: 2.00

A certain sum of money becomes Z1000 in 2 years and 1100 in 4 years at simple rate of interest. The rate of interest per annum is

WEIA

7

529
9

- T%%

4.6i%
9
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Question No. 17 / Question ID 2031 Marks: 2.00

Clickjacking. a type of cyber attack. 1s

. A device that sends and receives data at every click in a bit per second

. A device which counts clicks on Internet

. A malicious technique of tricking web users into revealing confidential information
. A digital process that 1s used to display an umage on mobile.
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Question No. 18 / Question ID 2024 Marks: 2.00




70% of the cost price of an article 1s equal to 50% of its selling price. The percentage of profit or loss on the cost price 1s

. 20% profit

. 20% loss

. 40% profit

4, 40% loss

fep il o & TTTd Tl BT 70% 39D [afhd e & 50% & SRER & | A1Td God IR 1Y I1 8113 S ufawa @

B et

e a2

. 20% olH
. 20% BT
. 40% olH
- 40% BT
(Chosen Option)
(Chosen Option)
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1
1
2
2
3
3
4
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Question No. 19 / Question ID 2044

Marks: 2.00




The Hunter Commission recommended the withdrawal of government support to

Collegiate education
Adult education
Moral education
Primary education
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2. T e
3. Afde e

4. yryfTyes fRran
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Question No. 20 / Question ID 2026 Marks: 2.00




Arrange the following group of terms in order of decreasimg intension.

A. Mammal
B. Wildeat
C. Felme

D. Animal
E. Vertebrate

Choose the correct answer from the options given below:

bogdw

> %m0
3

W > 0
NOwWU

AR OWOWDNN 2=

(Chosen Option)
(Chosen Option)
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Question No. 21 / Question ID 2010

Marks: 2.00




Given below are two statements:
Statement I: The goal of reciprocal teaching is to help students understand and think deeply what they have read.

Statement IT: Adaptive teaching provides all students with challenging instruction and uses supports when needed but removes these
supports as students become able to handle more on their own.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement II are true

|

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement I1 1s false

4, Statement I 1s false but Statement IT 1s true
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Question No. 22 / Question ID 2032

Marks: 2.00




Given below are two statements:
Statements I: Google Drive is an extension of Google docs and provides cloud storage services.
Statement IT: icloud is a cloud storage service provided by Apple.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement I[ are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s tiue
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Question No. 23 / Question ID 2006 Marks: 2.00

Which of the following assessment procedures tests skills and abilities as they would be applied in real-life situations?

. Formative assessment
. Authentic assessment
. Ipsative assessment
. Peer assessment
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Question No. 24 / Question ID 2022 Marks: 2.00




In a certain coding scheme. the word 'SCHOOL' 1s coded as 'TEKSTR'. How will the word 'OFTEN' be coded in the same scheme?

. PHWIS

. PGUFO
. PHVGP
4, PHUGO
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Question No. 25 / Question ID 2016 Marks: 2.00




In terms of communication, story-telling is like performing a

1. Social act

2. Seasonal act

. Confrontatiomist act
. Corporate act

1 (Chosen Option)
1 (Chosen Option)
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Question No. 26 / Question ID 2028

Marks: 2.00




"No poets are scientists. Some artists are poets. Therefore some artists are scientists.”" Which formal fallacy 1s committed in this argumant?

1. Denying the antecedent
2. Exclusive premises

. Fallacy of drawing an affirmative conclusion from a negative premise
4. Existential fallacy

"S5 Ul Bl IS 781 5| TS PAPR Bid gl THAU TS PATDR dJD 1" TH Jidd J I I HDHIND dda g°

L.u

1. SqaTed Ny gy
2. JGdd ATYR arag

3. FFSYTES YR 9190 S WIPRIAD %Py HHTa & dhay
4. TGRS dbay

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 27 / Question ID 2036 Marks: 2.00




Pyrolysis

A. 18 a biochemical conversion process

B. 15 useful for production of bio-oi1l

C. yields minimum waste

D. liquid is a good substitute of heating oil
E. can produce Ethanol

Choose the correct answer from the options given below:

1.A.B.C. D only
2.B. C.D only
3.B.C,D,E only
4. A.D.E only
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

aTg 3foHe (AERIAns )

A. U% oI I~ BUIdR01 Wihar g |
B. 5@ 40 & IcdIe & o ITgnfi g1
C. ¥ AT SRy Aoad sl

D. %4 I ad B =51 Wiaii-e g
E. 3UHId &1 3died o 9ddi gl

=id f&Uu U [doedl 5 O 9ol 3R &1 994 DioIg:

1.HAdd A.B.C.D
2. ®dd B.C.D
3.%dd B.C.D.E
4. 9dd A.D.E

Question No. 28 / Question ID 2020

Marks: 2.00




Given below are two statements:
Statement I: Wilbur Schramm's model of communication had interpreters acting as both encoders and decoders.
Statement IT: Wilbur Schramm was one of the first scholars to consider communication as an interactive process.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement I[ are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement I1 1s false

4, Statement I 1s false but Statement IT 1s true

e 1 Py [JU MU E:

HUF I fieaR 4 & U9 ST § UINRER Heaa® d [dped ol o9 § B Bd o
DU I1: fdesk 4 39 vud fagHl ° 3 o1 Sl uw0 ©f Ue 3id: fearare ufear amr|
SIRIdd DY & 3HTefiep o, i< AU T fdpedi T T 9ag Iugad Ja &l 99 DIflT;

FHYTIAR NEHi 9d s

LY 3R 1 3H 3§

 FYT 1A ©. AT YT 11 T B
L HYT I AT, Af T P I 9

O 1 (Chosen Option)
1 (Chosen Option)

| R

e L
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Question No. 29 / Question ID 2021

In the following letter series. find the next term? FFafaiad ser 5!@?" o ST UG 31d DY

CCABD ,DDBCE.EECDF, ............ CCABD . DDBCE,. EECDF. ..........

. FFDGE
. FFDCE
. FFDEG
. FFDEF

. FFDGE
. FFDCE
. FFDEG
. FFDEF

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

B A R
e La o —

Marks: 2.00

Question No. 30 / Question ID 2035

Marks: 2.00




Match List I with List IT

LISTI LISTII

(Computer Terms) (Definition)
The procedure where one image 1s changed into

A |Tweening 1. |another image in a smooth way (uses tweening
to give the transition effect)

B. Morphing II. |Artificially created environment
The generation of intermediate frames between

C. |[Rendering III. pmages gives the impression that the first image
evolves slowly into the second image

D. Wirtual Reatitv | TV The generation of an image from a model using

' software

Choose the correct answer from the options given below:

o =

o Raa

CA-IILL B-IV. C-1. D-II
. A-IL B-I. C-IV, D-III

cA-L B-IIIL C-IV, D-II
A-III. B-1. C-IV. D-II




I 1 1 ga 11 © e i

Gl T
(PR TS i (aiyHEm
i e | 1. [F TN oTe e 0 a1 Tl G b QR 19 WA @R 1 Tl & (3l BT o 1G G a Fa g

EY
1. [138 3Y Y Ierd ygiaRo

SR UueH | 111 [fdel & §d T WAl @1 Sd d J8 THd STaq 1o vy foe ek i g e d fqwiid sldi &
|emurdt gy | 1v [@itedTR &1 ugim @d g Aisd | fd9 &1 Sd

fFafaRad faeedl 0 O 98l 3R &1 994 S -

Qo] =

1. A-IIL B-IV. C-1, D-II
2. A-II. B-1. C-IV, D-III
3. A-I. B-III. C-IV. D-II
4. A-III. B-1. C-IV. D-II

O 4 (Chosen Option)
4 (Chosen Option)

Question No. 31 / Question ID 2029 Marks: 2.00




Given below are two statements:
Statement I: The form of inductive argument is evaluated in degrees of likelihood or probability.
Statement IT: A strong inductive argument that has all the true premises. is called a "cogent” argument.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are imncorrect
3. Statement I 1s correct but Statement II 1s incorrect

4. Statement I 1s incorrect but Statement I 1s correct

2 < U [JU MU E:

T I AT Gfad & U BT edidh GHIa a1 GHTEd &1 71 & SR foa ora g
DY I1:T¢ ST THATAD Jiad ford F1 URaTe 9 §id ©. a8 97d (Ploie) gfad pedrdl o
SIRIFd DYH & 3HTclle o, = U T fdpedl T T Tad Iugdd 3a &I 947 DIfT;

BYI AR I S 9el ©

YT 1 IR 11 3H el el ©

. HYT 1 Tel 8. Wfth Y= 11 7Tad §
. HYF 17Tad 5, AT DU 11 Tel 8

O 1 (Chosen Option)
1 (Chosen Option)

O 2
2

O 3

b =

ML ]
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Question No. 32 / Question ID 2014

Marks: 2.00




Given below are two statements:
Statement I: When selection procedure is biased, taking a large sample will help reduce the bias.

Statement II: In a normally distributed data. the chances of individual observed values deviating more than 3 times the standard deviation
trom the mean value, are very less.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

|

. Both Statement I and Statement II are incorrect

3. Statement [ 1s correct but Statement II 1s incorrect

4, Statement I 1s incorrect but Statement I1 1s correct




- g1 By [JU L 6
DY O IU UihdT Jarg U gl 6. Al 49 WidERl &1 9094 Yaiug &1 & H- 0 Jgid gHll|

aﬂﬁn;%mwﬁﬁﬁﬁﬂaﬂﬁ.wﬁﬂmﬁ?&mmﬁmmwm@ﬁaﬂ?aﬁmﬁHHq:r [a=eH I 3ifeie g1 @I YHaATT dgd
PO

SWRIdd PY & 3HTefie H, A= AU T fdpedl § I Fad Iugad Ia 1 94 HIflT;

1

U1 SR 1A e

HYT 1 AR 11 ST Tad &
3. YT 1 96! 5. dfe HUF 11 7Tad &
4. PYTITEd 8, AP T PYT I T5t &

O 1
1

(Chosen Option)
(Chosen Option)

O O O
BA WW NN

Question No. 33 / Question ID 2043 Marks: 2.00




Which of the following are the encompassing principles underlying the successful implementation of value education?

A. Conviction

B. Connection

C. Critical Thinking
D. Commuitment

E. Courage

Choose the most appropriate answer from the options given below:

A, CandD only
.B. C and E only
.A.B.Dand E only
.A.B. C and E only

TR Y& & 9hd fbar=aa & Ui 49 o 9 $H-5H 3 Rgid gitfed g

A. =g f[ay™

B. Ja=H

C. AP Fdq
D. Ufdg<dr

E. dlgd
= 14U U fadedl § U Yol 3R &1 994 Difalt:

L R

1. AT A. C IR D
2. $AddB. C AR E
3.%dd A.B.D3RE
4. PATA.B.C 3R E

O 1 (Chosen Option)
1 (Chosen Option)

O 2
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Question No. 34 / Question ID 2034

Marks: 2.00




In the context of MS-EXCEL spreadsheet software, consider a case where there are 10000 random numbers from 0 to 1. located in cells Al
through A10000. How many of the following statements A-D are true?

A. A COUNTIFS function in cell B2 with one criteria. based on the range Al:A10000, cannot evaluate to less than 0

B. A COUNTIFS function in cell B2 with two criteria. each based on the range AL:A10000, cannot evaluate to less than 0

C. A COUNTIFS function in cell B2 with one criteria. based on the range A1:A10000, cannot evaluate to greater than 10000
D. A COUNTIFS function in cell B2 with two criteria. based on the range Al: A10000. cannot evaluate to greater than 10000

Choose the correct answer from the options given below:

o —
[ LI R

J;.L.u
'_I.

Qmm Uqd Sisyic Gieadtl & deY . Uoh U8 A/ IR foaR Sifere o18f 0 ¥ 1 &t 10000 Trefws® G0 E & A1 T A 10000
MNupN H afd s Fg A DE Y Gd sy Tl B2

A. S A1:A10000 TR STEMRT U SHHICT & TIY Th!Y B2 H Th COUNTIFS YD, 0 T HH B el o] B2 Ghdl o

B. aﬁﬁ%ﬁ%ﬁ%mﬂﬁﬁﬁw?mm:mmmwaﬂﬂﬁﬂ 1. WY B2 § Ud COUNTIFS UBH 0 4 FH &1 GeGIeh ol PR
THai gl

C. 39 A1:A10000 TR TR U HIE] & 91 Wb !¥ B2 § U COUNTIFS U 10000 F 38 P Jeura -] B 9l g

D. aﬁﬁiﬁﬁaﬁgu o TH U 397 A1:A 10000 TR STHING 8, uaﬂgmﬁwmvmmumﬁmma@fa{%ﬁlw
Tel PR IHaI |

12 fou 7Y faweul & § HEt SR BT 99 ST

o —
[ I VI

e faa
'_I.

O 1 (Chosen Option)
1 (Chosen Option)
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Question No. 35/ Question ID 2013

Marks: 2.00




Identify the correct statements on handling of plagiarism as per UGC Regulations 2018 on plagiarism.

A. A higher education institution can initiate proceedings on the basis of findings of an examiner.
B. A higher education nstitution cannot take suo moto notice of an act of plagiarism.
C. The Departmental Academic Integrity Panel will be headed by the Head of the Department.

Choose the correct answer from the options given below:

1. A and B only
2. Aand C only
3. B and C only
4. A . BandC

TiiRfA® =R T Yaied g off It faf99 2018 & HR. Wiefds TRt ¥ fHue ¥ aiyd Jel @u= @f ffgd oifon)

A. fordt glieres & wiig ool & SR IR S=3aR e SR PRiae! URY & 95d §
B. I=AaR (R1&T TR Hiigldie TRl & Pl B T4 I U el o Gobd ©
c. fTaurfa smefbe Ay U9 o s fTurTae R &1 S

- fu e fooedl ® 9§ el STR &1 994 SIT:

1.%dd A3RB
2.%dd A3RC
3.%dd B3R C
4. AB3IRC

O 1
1
O 2
2
O 3
3




O 4 (Chosen Option)
4 (Chosen Option)

Question No. 36 / Question ID 2030 Marks: 2.00

Which of the following arrangements involve fallacy of the irregular middle term?

A. Sound is a quality because it 15 visible.

B. Sound is eternal. because it 1s audible.

C. Sound is eternal because it 1s produced.

D. All things are non-eternal, because they are knowable.

Choose the correct answer from the options given below:

.A. B and C only
. B and D only
. B and C only
.A. B and D only

forer 7 @ o1 fdrl & oot oo ug 1 adbary 22

A. AF U E S ag T B

B. @1 XMyd ¢ F11d 98 ¥ 5

C. At XMYd & T 98 SeTed Bl o
D. ¥l a%{8 TIR-21%d § Hifd d JF sial &

=d feU 71U fad eyl § T Yol 3T &1 994 Difolg:

|

=

1. PadA. B3R C
2. %ad B AR D
3. FAAB 3R C
4. HATA.BIARD




(Chosen Option)
(Chosen Option)

o O O O
BA WWNON 2o

Question No. 37 / Question ID 2018 Marks: 2.00

frafafad 3 A o -3 3 99 T9R & ATHTE0 52

Which of the following are features of mass communication? A g 1
B. o

A, Face - to - face C. giaui®

B. Private D. @ig

C. Public E YR W@ g
D. Rapid

E. From a professional source

=< fau o faeredl © O 9ol 3Tk &1 991 Diful:

Choose the correct answer from the options given below:

1. A; BT ey 1.®dd A.B.C
2.B.C.D only 2.®dd B.C.D
3.C.D.E only 3.%dd C.D.E
4.A.B.E only 4.90dd A.B.E
O 1

1
O 2

2
O 3 (Chosen Option)

3 (Chosen Option)




Question No. 38 / Question ID 2019

Marks: 2.00




Given below are two statements:
Statement I: Verbal communication becomes more powerful if accompanied by non-verbal messages.
Statement IT: Non-verbal communication does not reflect personal feelings. emotions and attitudes.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement I[ are true
2. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false

4. Statement I 1s false but Statement II 1s tiue

= 3l Py AT U &

HYT I: ATfecrep YUY & FY Al TR-TMfexed Ha &1 <11 I8 3Hi¥es F2rerd & Sl 6|
B I1: TR-XMTece ST (-5l UTa=13iT, Tall SR gl ol widfdfed 98 axarg |
SIRIdd DY & 3HTcliep o, i< U T fdpedl T I Fad Sugdd 3o &I 94 DIflT:

HYTIIR NEA 98

HYT AR 1 aH FTIT |

. PYT 1 9 . AfbT PYUT 11 3T &
HYF I AT B, Al PUT I T &

O 1
1

O 2
2

O 3 (Chosen Option)

| SR

ML ]




3 (Chosen Option)

O 4
4

Question No. 39 / Question ID 2027 Marks: 2.00

Which fallacy 1s exemplified in the following statements "Of course gun ownership should not be prohibited. You can kill someone with a
hockey stick, but no one proposes to ban ownership of hockey sticks."?

. Shippery slope
. Weak Analogy
3. Red Herring

4. Straw Man

Frafaf@d oy & o 91 9 Sy <xifar a1 8 99 74 &1 Wit Ffteg T8 s Tiitul 3y el ot s giat ¥ o Iohd .
fop= @15 i glb! o w1 Pi Uidafd B BT Wdd ol PRl o2

R

1. T ae gad gar
2. PHUR

3. 38 Bl

4. €A

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 40 / Question ID 2015 Marks: 2.00




Given below are two statements:
Statement I: The p-value of a test depends on sample size.
Statement IT: An important difference may not be statistically significant if the sample size is too small.

In the light of the above statements. choose the correct answer from the options Given below:

1. Both Statement I and Statement I[ are true

| B

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement I1 1s false

4, Statement I 1s false but Statement II 1s true

= 3l Py AT U &

HY I: [l I1ef01 &1 p-aF Uide & PR R R HRarsl

HY 11: a1 Hide™] d5d SicT Bidl & dl 61 Hebdl & 1 Hed YUl iR WiRADY 39 Y P A8l
SIRIFd DYH & 3HTclle o, = U T fdpedl T T Tad Iugdd 3a &I 947 DIfT;

PSR ER EE e

.ﬁﬂ:[ld?l'\fﬂ??iﬁw%
. PYT I FEl 8. A Y 11 TTad ©
YT 1 TTd ©., A BYT I 9el &

I

T




O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 41 / Question ID 2038 Marks: 2.00

Amongst the following Green House Gases (GHGs). whose Global Warming Potential (GWP) 1s considered as 17

1. Chlorotluoro carbon (CFC)
2. Nitrous Oxide (N,0)

3. Carbon dioxide (CO,)

4. Methane (CH,)

[FraAfRad urey 78 @IF 8189) 191 4 9 [oge! af e ara= Guedl (S Seeg Ul) &1 1 941 91l 87

1. FARIFR] BT (CFC)
2. TIETH HFES (N,0)
3. PIA SIZHFHIES (CO,)
4. 1199 (CH,)

o O O O

(Chosen Option)

1
1
2
2
3
3
4
4 (Chosen Option)




Question No. 42 /| Question ID 2039

Given below are two statements:
Statement I: Some people suffer from what is called as Sick Building Syndrome (SBS).

Statement IT: SBS 1s caused due to supply of polluted water in a particular building.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are imncorrect
3. Statement I 1s correct but Statement II 1s incorrect

4. Statement I 1s incorrect but Statement I 1s correct

2 < Py [JU MU E:

T [: §S cafad [ (afceT g 31ar TF o T (SBS) Fal o aral ooy § Yifisd 8id 8
®YF 11 Tl Yo fagm T wg i ofdt Smafd v ol 00 &1 SRS Bidi 8|

SIRIdd DY & 3HTcliep o, i< U T fdpedl T I Fad Sugdd 3o &I 94 DIflT:

BYI AR I S 9el ©
HYFT I AR 1A Tad
. HYT 1 Tel 8. At Y= 11 7Tad §
PYT I &, AfbT BT I IEt &

| S

ML ]

Marks: 2.00




(Chosen Option)
(Chosen Option)

o O O O

1
1
2
2
3
3
4
4

Question No. 43 / Question ID 2017

Subliminal communication is part of.

1. Government notification
2. Political propaganda

. Legal documentation

. Research reports

O 1
1

e e

(Chosen Option)
(Chosen Option)

O
O

2
2
3
3
O 4
4

3fa=g Iugor g A 9 fags 4 g?

1. TRBRT A

2. XSHITaE fUFER (Wgien)
3. faf¥e Dot

4. e wicded

Marks: 2.00

Question No. 44 /| Question ID 2008

Marks: 2.00




Which of the following are the elements of cooperative learning?

A Individual accountability
B. Positive interdependence
C. Promotive interaction

D. Social skills
E. Group processing

Choose the correct answer from the options given below:

LA B. Cand D only
. B and E only
.C.D and E only
AB.C,Dand E

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

| B

e

TeeR! AfH & da FEfaa g a9 aaa

A FEITd ITRaIdQd

B. YB RIS REg-fAyvar
C. Uiche® =g foban
D. JTHINIS DI

E. Qifg® UshHul

A feu g faweal # 1 et SR @ 90 Difon:

1.%dd A.B.C3RD
2. %ad B 3R E
3.%dd C.D3RE

4. A.B.C.D3RE

Question No. 45 / Question ID 2045

Marks: 2.00




Given below are two statements:

Statements I: In Ancient times. Nalanda attained greatest and most brilliant achievements in the field of logic.
Statement II: Each professor in Nalanda had charge of one subject only.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are imncorrect
3. Statement I 1s correct but Statement II 1s incorrect

4. Statement I 1s incorrect but Statement I 1s correct

2 < Py [JU MU E:

DY L: WA DI T A1 A 9 URd & &3 T ey d Jali9e AHeR STl 4 i
HUA I1: 151 H Hd® WhIR & U ddd U (a9 & 6l YHR gidl UT|

SIRIdd DY & 3HTcliep o, i< U T fdpedl T I Fad Sugdd 3o &I 94 DIflT:

BYI AR I S 9el ©
HYFT I AR 1A Tad
. HYT 1 Tel 8. Wfth U= 11 7Tad ©
. HY 1 7Tad 5, AT DU 1 Tel 8

O 1
1

O 2
2

O 3 (Chosen Option)
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3 (Chosen Option)

O 4
4

Question No. 46 / Question ID 2049 Marks: 2.00




Read the following passage carefully and answer the question given below:

Firefighters are often asked to speak to school and community groups about the importance of fire safety. particularly fire prevention and
detection. Because smoke detectors reduce the risk of dying in a fire by half. firefighters often provide audiences with information on how
to install these protective devices in their homes.

Specially. they tell them these things: A smoke detector should be placed on each floor of a home. While sleeping people are in particular
danger of an emergent fire, and there must be a detector outside each sleeping area. A good site for a detector would be a hallway that runs
between living spaces and bedrooms.

Because of the dead-air space that might be missed by turbulent hot air bouncing around above a fire. smoke detectors should be installed
either on the ceiling at least four inches from the nearest wall. or high on a wall at least four. but no further than twelve inches from the
ceiling.

Detectors should not be mounted near windows, exterior doors, or other places where drafts might direct the smoke away from the unit.
Nor should they be placed in kitchens and garages. where cooking and gas fumes are likely to cause false alarms.

A smoke detector should not be mstalled near a window because

. Outside fumes may trigger a false alarm.

. A draft may create dead-air space.

3. A draft may pull smoke away from the the detector.
4. Outside noise may muftle the sound of the detector .

| ]




fFrafatad T &1 ufeu 3R IR I

LT SHAIRG! Y U: 31E a1 Srar & fob S Qe favs=g U 3l 1 APHUM Ud Udl 9 & Tgd & aR § Tl 3R
e THE1 & Y ardiard ®x | S GYIH! B aore O S - o 811 aral Hid Pl @av] YT I§ Sidl &, Fuferg SR
BUAR] HIA13l 1 §dld § (b 59 Y& FUBRUN B 304 BRI T Hd T | d WHdR UR 24 91dl 1 3R O G & & 3 Ggq=s
R P YD a0 IR I S =A1igy| i Tid G0 TRT 1 B 3T B [d9N Favl I8d] ©. SHAy Y® T 68 & Ji6%
HYFD FH a1 § | 3% AR IUFABE] DI SIS+ aral I SY=D T o U 308 ®d 811 Hie 3T & U 3R HWR
I ATl TH a1 Fald el a’ @1 3R 6] §¢ 9Tl . SHiay 3 Iga® 41 1l §d | Feead 4laR 4 &0 4 $H IR 59 1)
g1 R ©d 9 8 ¥ $H IR 3R HUHaH dRE 59 R (Bl IaR & HURl [§8 W T o dligU | §9a®] & Rasiodl, aesd
ATl g1 3= R & (e =6l T Sl =it el iy YaTd §U 1 HRIH 4 gX & ol 9hd | 1 81 36 W4l Wi 3R IRl H
TN S 918U, S8 @HT UehT- Ud 116 & §U & SRUI SBRUN HAH go- ) GG I8l 6|

311 Hondd Bl fidl fes®l & (e e gruitd et faar o =T wife

1. STEX & YU ¥ HPRUT AT gol 1 bl g |

2. %91 1 YA (i) e arg Yal B geell ¢

3. §al &1 ¥dTd (SAhT) €U ol ebdd 4§ g o ol Hobal g
4. S5 IR Ybad I SATaTs B gal gl o

(Chosen Option)
(Chosen Option)
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BA WWNON oo

Question No. 47 /| Question ID 2047 Marks: 2.00




Read the following passage carefully and answer the question given below:

Firefighters are often asked to speak to school and community groups about the importance of fire safety. particularly fire prevention and
detection. Because smoke detectors reduce the risk of dying in a fire by half. firefighters often provide audiences with information on how
to install these protective devices in their homes.

Specially. they tell them these things: A smoke detector should be placed on each floor of a home. While sleeping people are in particular
danger of an emergent fire, and there must be a detector outside each sleeping area. A good site for a detector would be a hallway that runs
between living spaces and bedrooms.

Because of the dead-air space that might be missed by turbulent hot air bouncing around above a fire. smoke detectors should be installed
either on the ceiling at least four inches from the nearest wall. or high on a wall at least four. but no further than twelve inches from the
ceiling.

Detectors should not be mounted near windows, exterior doors, or other places where drafts might direct the smoke away from the unit.
Nor should they be placed in kitchens and garages. where cooking and gas fumes are likely to cause false alarms.

The passage indicates that one of the responsibilities of a firefighter 1s to.

. Install smoke detectors in the homes of residents in the community.

. Check homes to see if smoke detectors have been properly mnstalled.

. Develop Fire safety programmes for commumity leaders and school. teachers
. Speak to school groups about the importance of preventing fires.

| S R ]
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fFrafatad T &1 ufeu 3R IR I

LT SHAIRG! Y U: 31E a1 Srar & fob S Qe favs=g U 3l 1 APHUM Ud Udl 9 & Tgd & aR § Tl 3R
e THE1 & Y ardiard ®x | S GYIH! B aore O S - o 811 aral Hid Pl @av] YT I§ Sidl &, Fuferg SR
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ATl g1 3= R & (e =6l T Sl =it el iy YaTd §U 1 HRIH 4 gX & ol 9hd | 1 81 36 W4l Wi 3R IRl H
TN S 918U, S8 @HT UehT- Ud 116 & §U & SRUI SBRUN HAH go- ) GG I8l 6|

T § 1 sidl & [ SRR HIRI &1 U6 i

1. 9ge™ & Haiddl & o=l T g3 e aE g |

2. WRI B W9 B o1 ¢ 19 e Hopad Fgfd &7 9 ol gU g a1 -el|

3. GHE Ad13f R Tl HAUD| o (AU Y GR&T Sy (AP d D16 |
4. T 9 TG B A B gl 3T ABUM F Hed Bt THBRI ST 6

1 (Chosen Option)
1 (Chosen Option)

o O O O
BA WW NN

Question No. 48 / Question ID 2046 Marks: 2.00




Read the following passage carefully and answer the question given below:

Firefighters are often asked to speak to school and community groups about the importance of fire safety. particularly fire prevention and
detection. Because smoke detectors reduce the risk of dying in a fire by half. firefighters often provide audiences with information on how
to install these protective devices in their homes.

Specially. they tell them these things: A smoke detector should be placed on each floor of a home. While sleeping people are in particular
danger of an emergent fire, and there must be a detector outside each sleeping area. A good site for a detector would be a hallway that runs
between living spaces and bedrooms.

Because of the dead-air space that might be missed by turbulent hot air bouncing around above a fire. smoke detectors should be installed
either on the ceiling at least four inches from the nearest wall. or high on a wall at least four. but no further than twelve inches from the
ceiling.

Detectors should not be mounted near windows, exterior doors, or other places where drafts might direct the smoke away from the unit.
Nor should they be placed in kitchens and garages. where cooking and gas fumes are likely to cause false alarms.

What 1s the main focus of this passage?

. How firefighters carry out their responsibilities

. The proper mstallation of home smoke detectors

3. The detection of dead-air space on walls and ceiling
4. How smoke detectors prevent fires in homes

| ]




fFrafatad T &1 ufeu 3R IR I

LT SHAIRG! Y U: 31E a1 Srar & fob S Qe favs=g U 3l 1 APHUM Ud Udl 9 & Tgd & aR § Tl 3R
e THE1 & Y ardiard ®x | S GYIH! B aore O S - o 811 aral Hid Pl @av] YT I§ Sidl &, Fuferg SR
BUAR] HIA13l 1 §dld § (b 59 Y& FUBRUN B 304 BRI T Hd T | d WHdR UR 24 91dl 1 3R O G & & 3 Ggq=s
R P YD a0 IR I S =A1igy| i Tid G0 TRT 1 B 3T B [d9N Favl I8d] ©. SHAy Y® T 68 & Ji6%
HYFD FH a1 § | 3% AR IUFABE] DI SIS+ aral I SY=D T o U 308 ®d 811 Hie 3T & U 3R HWR
I ATl TH a1 Fald el a’ @1 3R 6] §¢ 9Tl . SHiay 3 Iga® 41 1l §d | Feead 4laR 4 &0 4 $H IR 59 1)
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TR &1 G i a1 57

1. SRR HHART U 2@l o1 1 8 Hd §

2. IR F 31 Heblp| BT < JwI1g-

3. SIART SR @l WR Tds - arg ®IF BT Udl @]

4. 3 GHam ORI H T G AT B geTSl &1 9 Adhd ©

O 1
1

O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

O 4
4

Question No. 49 / Question ID 2050 Marks: 2.00




Read the following passage carefully and answer the question given below:

Firefighters are often asked to speak to school and community groups about the importance of fire safety. particularly fire prevention and
detection. Because smoke detectors reduce the risk of dying in a fire by half. firefighters often provide audiences with information on how
to install these protective devices in their homes.

Specially. they tell them these things: A smoke detector should be placed on each floor of a home. While sleeping people are in particular
danger of an emergent fire, and there must be a detector outside each sleeping area. A good site for a detector would be a hallway that runs
between living spaces and bedrooms.

Because of the dead-air space that might be missed by turbulent hot air bouncing around above a fire. smoke detectors should be installed
either on the ceiling at least four inches from the nearest wall. or high on a wall at least four. but no further than twelve inches from the
ceiling.

Detectors should not be mounted near windows, exterior doors, or other places where drafts might direct the smoke away from the unit.
Nor should they be placed in kitchens and garages. where cooking and gas fumes are likely to cause false alarms.

A smoke detector must always be placed

. outside at least one of the bedrooms on any levels of the home.
. outside all bedrooms in a home.

. in all hallways of a home.

. in kitchens where fires are most likely to start.
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frafaiad e &1 ufgu 3R IR I

LT HHAIRG! Y U: 31E a1 Srar ¢ fob S QR fa=s=y U 3 31 APHUM Td Udl @9 & Tgd & aR § Tall 3R
THETT g1 & Y ardiard ®x | G GYaH| B aore 9 S - o 811 aral Hid B @avl YT IE Sidl &, 9oy SR
BUAR] HIA13l 1 §dld § (b 59 Y& FUBRUN B 304 BRI T Hd T | d WHdR UR 24 91dl 1 3R O G & & 3 Ggq=s
TR P YD a0 IR I S aANiey| i Tid T80T TRT 1 S5 3 BT [d9N Favl I8d] 5. SHiy Y® T 68 & J16%
HYF® T a1 § | 43 AR TATBE] DI SIS aral I GY=D T o U 308 ®Id 8111 e 3T & HHUH HR HWR
I ATl TH a1 Fald el a’ @1 3R 6] §¢ 9Tl . SHiay 3 Iga® 41 1l §d | Feead 4laR 4 &0 4 $H IR 59 1)
g1 R ©d 9 8 ¥ $H IR 3R HUHaH dRE 59 R (Bl IaR & HURl [§8 W T o dligU | §9a®] & Rasiodl, aesd
ATl g1 3= R & (e =6l T Sl =it el iy YaTd §U 1 HRIH 4 gX & ol 9hd | 1 81 36 W4l Wi 3R IRl H
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¢[311 Hobeie 1 Fa Al ST AT

1. B0 Y 5T bl Uh Ig-5E & dles IR & fhdl Ul R §1|
2. TR &b T X el & a1
3. RSP G P& & oI P I T |
4. TISERI H o] ¥ ST URY 81H &1 Jad Sffed JHEH 5d! o
O 1
1

O 2 (Chosen Option)
2 (Chosen Option)

Question No. 50 / Question ID 2048 Marks: 2.00




Read the following passage carefully and answer the question given below:

Firefighters are often asked to speak to school and community groups about the importance of fire safety. particularly fire prevention and
detection. Because smoke detectors reduce the risk of dying in a fire by half. firefighters often provide audiences with information on how
to install these protective devices in their homes.

Specially. they tell them these things: A smoke detector should be placed on each floor of a home. While sleeping people are in particular
danger of an emergent fire, and there must be a detector outside each sleeping area. A good site for a detector would be a hallway that runs
between living spaces and bedrooms.

Because of the dead-air space that might be missed by turbulent hot air bouncing around above a fire. smoke detectors should be installed
either on the ceiling at least four inches from the nearest wall. or high on a wall at least four. but no further than twelve inches from the
ceiling.

Detectors should not be mounted near windows, exterior doors, or other places where drafts might direct the smoke away from the unit.
Nor should they be placed in kitchens and garages. where cooking and gas fumes are likely to cause false alarms.

The passage states that, compared with people who do not have smoke detecors, persons who live in homes with smoke detecors have a

. 50% better chance of surviving a fire.

. 50% better chance of preventing a fire.

. 75% better chance of detecting a hidden fire.

. 100% better chance of not getting injured in a fire.
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TR H I o b foree oRi 1 31 Hebad 181 & 3101 gl 1 Y311 Habde gad uRi 1 38+ ardl il &

1. AT E &9 W & 50% dgdl AT Ed ol

2. T ABYTH FI4 & 50% ded dR eld el
3. 7 3HT 1 Udl @I P 75% SgaR AR Bld o
4. M HUIATEH P 100% Sed ITReld ol
O 1

-_—

(Chosen Option)
(Chosen Option)
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2) PART B Subject Paper

Question No. 1/ Question ID 901057 Marks: 2.00




Properties of sufficient estimators are

A. It may not be unbiased

B. It may be unbiased

C. It 1s always consistent

D. It 1s not always consistent

E. Minimum variance unbiased estimator

Choose the correct answer from the option given below :

.A.Band C only
.A. CandE only
.A.B.Cand D only
.A.B. C and E only

| S ]

e Laa

(Chosen Option)
(Chosen Option)

o O O O

AR OWOWDNN 2=

Yy S ereh! & F1-aT 0T Bldl 87

A. U8 IR-YGUEI T8I glar §

B. I8 IR-Yalel sl g

C. T8 ¥3d GHTA Sl §

D. U8 ¥ed Y7 T8I giar &

E. gAaq [a97d IR-Yalus! sfidbdad

=d f4u U faeedl § I Hel IR &1 994 Difoll ;

1.PadA. B AR C
2. BAAA. C IR E
3. PAAA.B.C 3IRD
4. HBAAA.B.C IR E

Question No. 2 / Question ID 901069

Marks: 2.00




et 11 gl 11 ¥ [Har i

Match List I with List IT

E;I I 11
- KLIST I — . LIS;‘EII - A 1 oA IRl
. [Kuznet . [Innovation and Entreprencurship - . =
B. [Nurkse II. [Balanced growth theory B e I |5d _q@
C. [Leibenstein [T Inverted U-curve hvpothesis C. L. 35_5 U deb HldD il :
T [Schnipete | IV..|Cotcal hahiniiin eRomhase D._[RFeX IV. [Tl ~AaH 9o Risid

Choose the correct answer from the options given below: AHfeigd fdeedl O 9 981 3R &1 99+ Hifold :

1. A-I. B-IV. C-III. D-II 1. A-I. B-IV. C-III. D-II
2. A-TII. B-11. C-IV. D-I 2. A-IIL, B-11. C-IV. D-I
3. A-IV, B-III. C-II. D-I 3. A-IV. B-III. C-II. D-I
4. A-II. B-1. C-IV. D-III 4. A-II. B-1. C-IV. D-III
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 3 / Question ID 901082

Marks: 2.00




Arrange the following events of equity trading in India starting from the oldest :

A. The BSE mtroduced screen-based trading.

B. Foreign Institutional Investors (FIIs) are permitted to invest m the Indian Securities Market.
C. NSE commenced operations in wholesale debt market segment.

D. The SEBI banned badla trading on the BSE.

E. The NSE overtook the BSE as the largest stock exchange in terms of volume trading.

Choose the correct answer from the option given below :

1.A.B.D.E.C
2.B.D.C.E.A
3.D.B.E.C.A
4.C,B.,D.E.A

"

Wﬁﬂ@ﬁwaﬁﬁﬂﬁ@aﬂﬂaﬁaﬁgﬂaﬁ@rmaﬂ%ﬂﬁmﬁm@mﬁﬁm:

A & U9 T A WP U sOTaR Re o)

B. [44%1 SRuATd Hawe! (U &g &%) &1 YR Wiayfa aoR 8 FHaw &1 eafd & |
C.TATY S 4 Yidh HBU VR H & Jgra AR o]

D. T 3 &t 375 (&) 7 &t U9 § & dqarg suaR &I uigsfed fosan|

E.TAUH S 4 YR & YRAY ©f g e TU I ¥ & T 5 TP U &1 Afugo foam

- feg e famedt ® Wl SR &1 994 B -

1.A.B.D.E.C
2.B,D,C,E.A
3. 0. B CA
4.C.B.D.E.A
O 1

1
O 2




O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 4 / Question ID 901036 Marks: 2.00

According to Sample Registration System. which of the following Indian States has the highest level of life time risk during 2018-2020.

1. Bihar

2. Uttar Pradesh

3. Madhya Pradesh
4. Chhatisgarh

wideRl Yoileul YurTe! & SFER FEfaRad ¥ ¥ URd & &1 9 16 B 2018-2020 & SR HIGIG 96T KR 99 Gl 67

1. feER

2. TR U

3. 09 Yoy

4. BUEE

(Chosen Option)
(Chosen Option)

1
1
2
2
3
3
4
4

o O O O

Question No. 5/ Question ID 901088 Marks: 2.00




Give below are two statements :

Statement - I : Under first degree price discrimination. monopolist sells different units of output for different prices and these prices may
differ from person to person.

Statement - IT : Under third degree price discrimination, monopolist sells different units of output for different prices. but every individual
who buys the same amount of the good pays the same price.

In the light of the above statements. choose the correct answer from the options given below:

. Both Statement I and Statement II are true.

. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.
4. Statement I 1s false but Statement IT 1s true.

BY I TYY (ST Jed SR P 3icliTd UPTUBRATG! SUIG B SHTT-31CT SHI5Ul 1 STH-3HTHT G| IR §9d1 § SR U T k-
&R-otfad 134 Bl b dl |

S I1: org f70 T SfR & Sfaiid UH IS RATE! 31 B SAT-ST FHI3AI D1 S-SR Hedl TR §9d] ¢ Ad I B
AT O] @i aTal Udid odfad AraTH ol 3161 Sl 6|

SIRIdd DY & 3HTefiep o, =i AU 7T fdepedi T T Fag Iugad Ja &l 94 DIfulT;

| ]

[

BT SR 11 S e B

YT 1 3R 11 g1 Tad ©
PYT 196l 6. Al HYF 11 7Tdd §
Y 1 TTed ©. Afth YT 11 T8l §

1 (Chosen Option)
(Chosen Option)

| B

[

O
1
O 2
2
O 3
3




Question No. 6 / Question ID 901085

Marks: 2.00




According to the Census, 2011 arrange the states in the descending order based on the literacy rate (aged group 7 year and above) :

A. Nagaland
B. Tripura

C. Sikkim

D. Manipur
E. Meghalaya

Choose the correct answer from the option given below :

1.D.C.B.E.A
2.C.B.D.A.E
3.B.C.A.D.E
4 A CHB.ED
SIHITUMT 2011 & HTER FIERAT &3 (7 a8 AR AU 1) & AR W HafaRad Il @ 3ariel $9 4 oudiyd Sl
A. TS
B. AT
c. [Higey
D. TforgR
E. YTy

= 14U T fadedl § 9 Yol 3R &1 994 Difulu :

1.D.C.B.E.A
2.C.B.D.A.E
3. B, CA:B. B
4.A.C.B.E.D
O

1

O 2 (Chosen Option)
2 (Chosen Option)




Question No. 7 / Question ID 901064

Marks: 2.00




Here 1s given international organisations and their headquarters. Which of the following are correct combinations of the institutions and
their headquarters.

A. GATT : Geneva

B. IMF : Washington DC

C. World Bank : Washington DC

D. International Development Association (IDA) : New York
E. Asian Development Bank : Mandaluyong

Choose the correct answer from the option given below :

1. A. B and C only

2. Aand B only

3. C and D only

4. A. B, CandE only

el SfARIPT Y16+ 3R 3 Jerery U 1Y € | Fgfafad 8 9 $H-$17 9 Fiell 3R 3+ gorad] & Hel e ¢ -

A. GATT : 5=l
B. IMF : aTiiTe si 4t
c. fay 9% . aifdive= S &t
D. RIS {918 ¥9 (IDA) G T1&
E. TR fdoTd d@ : TSR

= f4U T fadedl § 9 Yol 3R &1 994 Difulu :

1. PATA. B AR C
2. Pad A AR B

3. %HadC ARD

4. PATA.B.C ARE

O 1 (Chosen Option)
1 (Chosen Option)
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Question No. 8 / Question ID 901008 Marks: 2.00

In the national income identity Y = C + I + G. investment (I) 1s a function of.

1. Real Income

2. Nomuinal Income

3. Real Interest Rate

4. Nomunal Interest Rate

AP AT FAAH Y = C + 1+ G, 19 (1) fhTp1 B g

(Chosen Option)
(Chosen Option)

Question No. 9 / Question ID 901002 Marks: 2.00




Suppose that a scarce resource, facing a constant demand, will be exhausted in 10 years. If an alternative resource will be available at a
price of $40 and if the interest rate is 10%. what must be the price of the scarce resource today -

. $55.50

. $35.60

.$24.40

. $15.42

O i o Tad TR aTal g oy S9Te 10 981 § GO 51 S| Ag DI abicd® GWU § 40 D HHd U U= I 3R

TS & 10% & dl gAY JGIeH DI 31 B H1Hd 91 il

R R

.$55.50
. $35.60
.$24.40
.$15.42

1 (Chosen Option)
(Chosen Option)

b =

L

O O O O

1
2
2
3
3
4
4

Question No. 10 / Question ID 901019 Marks: 2.00




Factor price equalization theorem 1s given by.

. David Ricardo
LIS Mill

3. Paul Samuelson
4. Adam Smith

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

b =

PRE B JHHI YUY [HT- T fbar yr

1. ofds Rarst
2. 91, ug. i

3. Ui JRgUaE
4. TSH fO1y

Question No. 11 / Question ID 901012

Marks: 2.00




The Hausman's specification error test 1s used to test whether

. An exogenous variable is correlated with the error term.

. An endogenous variable 1s correlated with the error term.

. Both an exogenous variable 1s correlated with the error term and an endogenous variable is correlated with the error term.
. OLS method 1s appropriate to estimate the SEM.

B &1 [a-aR FiE URT&r0r 1 YaNT fhHepT URIeu] & & fou fava ol g2

RN S

1. Sigeid @R ¢ ug ¥ g Ysld g1

2. 3{celid =R ¢ US U He Saldd gl

3. B afesiid =R Ffc U5 ¥ 98 Hailtd 5, 3R 3Feid IR Fic U8 4 98 Jalde g
4. TY. 5. U, BT 0 T1H & (U ol Td. T, dXidT U 6|

1 (Chosen Option)
(Chosen Option)

o O O O

1
2
2
3
3
4
4

Question No. 12 / Question ID 901026 Marks: 2.00




In the extreme case of liquidity trap

. There will be tendency to buy bonds

. Most of the investors will show bearish behaviour
. Cash will be less preferred

. Price of the bond will be low

1

| ]

e L

O O O O

(Chosen Option)

1
2
2
3
3
4
4 (Chosen Option)

el oid D ATy Rufd |,

—

.Y (ST P WRIG B Ugfc gHil |
. JffErpis Haw® Haloul oUeR axId & |

[

L]

Bl RITS) I HH TG (a<19) fagr S|
GY-TF (dle) P HIHd BH eI

e

Question No. 13 / Question ID 901017

Marks: 2.00




The utility tunction of a consumer is given by U=£(gy. g2) = g * ¢5. suppose the price of g1 1s p,q = 1 and price of g,1s pgr =2. The
consumer wants to spend amount of & units only what will be his demand for ¢, and g,?

I —
— —
- =
=y Ly
o L
S e
| ] ]
p— e,
o
- -

o
—
L
ol
-
|

4. (‘ﬁ-‘:’:) :[‘f‘i

FRplt STt T ST e U=1(q1.42) = qy. ¢, QAT AT AF TR, BT BT P =1 3R q, PIHA P, = 2%
SUHIEl k g(AT DI gl AR Gd B F8dl 6 g, 3R q, D (AU 3GDH! AFT fobd=T gl

(¢ k)
1 {:;].r;:,]—lk 2J
k k
2 L.
2. (4y:92) [_4-ﬁJ
[k k)
3 [’-’3|~¢j_}‘!:2~4J
k k
4 [q.-q:]‘[;;]
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4

Question No. 14 / Question ID 901048 Marks: 2.00




The Uruguay Round of trade negotiations called for

A the reduction of average tariffs on industrial goods
B. quotas to be replaced by tariffs

C. the reduction in agriculture export subsidies

D. the reduction in industrial subsidies

E. antidumping and safeguards to be relaxed

Choose the correct answer from the option given below :

2

e g

(Chosen Option)
(Chosen Option)

AR OWOWDNN -

SR drdief & 337 gR & o1 9 @i 715 Ui

A. TS IHHE TR 319 Ued § el |
B. Y[l & R U IeT 79 [Ha1 &M |

c. $ Faiq afeas! § werdl

D. e ieqSl & Skl |

E. UCT ST 3R YR&1 Iurdi § &ie 1 sy

= f4Uu U fas el § ¥ el 3R &1 99+ DIl : |

1. AT A.B.C.D
2. HddB.C.D.E
3. %dd C.D.E. A
4. HddD.E.A. B

Question No. 15/ Question ID 901039

Marks: 2.00




ST1-20 & 18 d GHE DI 31T a1y (Hiel) &1 87

What is the motto of G-20 18%™ meeting?

5 . , 1. U Jdl, U URaR, U Yide
. One Earth, One Family. One Future | 5

. One Earth, One Nature, One Life 2. QP tfifﬂ U Mg Id. 7

. One World, One Family. One Life 3. U fay, U% URAR. T Siia

. One Earth, One Nature. One Future 4. D tf&ﬂ ud Wﬁ[ L7 Higw=

1 (Chosen Option)
(Chosen Option)

2 =

e

o O O O

1
2
2
3
3
4
4

Question No. 16 / Question ID 901054 Marks: 2.00




AR Tod fa-fpds aE® 62
A. TR gl

Gunnar Myrdal is author of

A. Asian Drama B. U4 HAN®A [EaHm

B. An American Dilemma C. ORI B Ea'ﬂ:ﬁﬁifﬁ =dagde

C. Theory of Economic Development D. Ufigd 3% Uifdicadd s !

D. Principles of Political Economy E. SHHNNS YR U0 sisaats Saad

E. Economic Theory and underdeveloped regions

=d f4u T fadedl § § Yol IR &1 994 BDifolu ;

Choose the correct answer from the option given below :

1. A. B and C only 1. FAAA. B3R C
2. A. C and D only 2. bad A. C 3R D
3.A. B and D only 3. $ddA. B 3R D
4. A. B and E only 4. PAAA.BIRE
O 1
1
O 2
2
O 3
3
O 4 (Chosen Option)
4 (Chosen Option)

Question No. 17 / Question ID 901031 Marks: 2.00




oIS (a1 (6¥) BT f0gR Hafared O ¥ foy 3 96ied g2

The idea of creative destruction i1s associated with

1. T

.M
arx " e

. Adam Smith
. Ricardo

3 3. K1l
4. Schumpeter 4. Q‘[I:ﬁ:l?_\‘

1 (Chosen Option)
1 (Chosen Option)

| R

o O O O
AR WW NN

Question No. 18 / Question ID 901027 Marks: 2.00

Which of the following can be an equation representing the money market

300 =2¥Y-1.5i
i=150-Y
. ¥=100-1
.i=(150-2Y)2

Frafafad ¥ 9 $19-91 e Gal a/R &1 901 (W) S arel U GHIER0 81 §6dl o7

| S

N V]

.300=2Y—1.5i
i=150-¥
. ¥Y=100-1
.i= (150 - 2Y)2

L S R




(Chosen Option)
(Chosen Option)

o O O O
EER WOWNN o

Question No. 19 / Question ID 901070 Marks: 2.00
T 11 9= 11 ¥ e Sifey
Match List I with List IT q:ﬁ’f I ﬂiﬁ I
Iy ETETA Sdlgd (2021-22) (89l €H)
LISTT (States) |LIST II (Food grain production (2021-22) Thousand Tonnes A faaEn 1 111266.0
A [Telangana L [11266.0 - e
B [harkhand T [2984 2 B s L 4931-“
C. |Chhartiscarh | TII. [8897.0 C. @_ﬁ qie LT il
D. |Andhra Pradesh| IV 15095 4 D. [3riyTey IV. [150954
Choose the correct answer from the options given below: ﬁm ICEIRIREE] ﬂﬁ FTR B Ig- @ |IGQ :

1. A-I. B-II. C-III. D-IV 1. A-I. B-II. C-III. D-IV

2. A-IV. B-III. C-II. D-I 2. A-IV. B-III. C-II. D-I

3. A-L. B-III. C-IV, D-II 3. A-L. B-III. C-IV, D-II

4. A-IV. B-IL, C-III, D-I 4. A-IV. B-II. C-III. D-I
O 1
1

O 2 (Chosen Option)
2 (Chosen Option)

O 3
3




Question No. 20 / Question ID 901028 Marks: 2.00

With the same monetary base, which of the following will lead to an increase in broad money?

. High transaction cost of converting deposit into cash
. Higher mvestment under SLR

. Higher use of cash

. Increase in financial literacy and banking habit

g Hifad SMYR & 91y, FEfiiad &H-81 U argd el 3 gig & 3R URd S

= L bk

1. 51 4] & =9 § uRad- S gael 3= YoasR arTd (Hed )
2. T U 3R & 3idifd Seax (Fof 9 1) a9

3. @] B o (3= UM IR YA

4. fa<iig G1&Rar ud & 31ad (HasR)Y gia

O 1
1

(Chosen Option)
(Chosen Option)

O 2
2
O 3
3
O 4
4

Question No. 21 / Question ID 901062 Marks: 2.00




Defensive expenditure method 1s based on the understanding that

A. the consumer spends money to ameliorate the damaging effects of the bad.

B. the defensive expenditure undertaken reflects the consumer's willingness to pay to reduce the level of the bad.

C. the observed defensive expenditure 1s an upper bound on the willingness to pay to avoid the bad.

D. the defensive expenditure provide no additional services other than provisioning the desired environmental quality.
E. the observed defensive expenditure is a lower bound on the willingness to pay to avoid the bad.

Choose the correct answer from the option given below :

.A. B and C only
. C.D and E only
.A.B.Cand D only
.A.B.D and E only

YRETHD I Ugld 38 T9 IR AR § fob -

A. IUHTERIT §31 TiSll & BIFBRS U] Bl gR B & 78 4= o Bl ¢ |

B. fba1 a7 YRene® g 11 Hieil & TR T B! B B (A SUUIE DI YITdH DR DI dcd=dl Dl SMdl & |
C. foran Ty HRereE® o g1 ISl § @9 & (AU Rl Bl Ikl HH1 B

D. YR&T&® o4 1 difesd qaiaRuiig Torawl BT Wa el B b3adl By SAidRed Harsil 1 UayE T8i sial g |
E. foran a1 gReeres o §31 el § a9 & (o1T deRal i (Hae ST 8

= f4U 7T fasedl § U Yol 3R &1 994 Difull :

| S ]

e Laa

1. PAAA. B AR C
2. $ad C.DARE
3. HATA.B. C 3R D
4. PATA. B.D3IRE

O 1
1

O 2 (Chosen Option)




2 (Chosen Option)

Question No. 22 / Question ID 901025 Marks: 2.00

When MPS is 0.25 and initial increase in autonomous spending is Rs. 100, then the expenditure multiplier and resultant inerease in GDP
respectively are :

: 1, Rs: 100
. 0.75,Rs. 75
. 4. Rs. 400
.1.33,;Rs. 133

ofe U U1 T 0.25 SR Wad @4 8 RS afg 100 3. 3 1 @ i@ SR off St 41 & ufomdi afg eown: g

R

e

1.1.100%.
2.0.75. 15F€
3.4.400 9.
#.1.33. 1358

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 23 / Question ID 901074 Marks: 2.00




Match List I with List IT ?Eﬁ Ll ﬂ;ﬁ 11 ¥ @ S
LIST 1 LIST 1T g T I
. -

‘rf't

Alf=0and =0 L e A lf)=0andf"x)=0] L s

B.|f(x)=0andf(x)<0| IL B. |f(x)=0andf"(x)<0] 1L

C. |f'x)=<0andf"(x) <0 IIL C. [f'(x)=0and f"(x) = 0f IIL.

D |f(x)<0andf"(x)=0 IV, // D |f(x)<0andf"(x)=0 IV //

f—¥ X

Choose the correct answer from the options given below: "Hfiigd f[dpedl § O Hgl 3R &1 99+ Hifuly :

1. A-L B-IV, C-IIL. D-II 1. A-L B-IV. C-III, D-II
2. A1, B-IIL, C-II. D-IV 2. A-1, B-IIL, C-I1, D-IV
3. A-IV, B-L C-II. D-III 3. A-IV. B-. C-II. D-I1I
4. A-IV, B-IL, C-TII, D-I 4. A-IV, B-II, C-II. D-1
O 1
1
O 2
2

O 3 (Chosen Option)
3 (Chosen Option)




Question No. 24 / Question ID 901029

According to Robinson the term 'Golden Age' in the context of Harrod-Domar model is used to emphasize

1. Its mythical nature

2. Its superiority

3. Natural growth rate

4. Warranted growth rate

Marks: 2.00

M= F IR - Hlsd & e & %ol gir (liee= Uo) Wsg &1 Hafafad fod W a6 &7 8 WIad gidl 82

1. 38 YD (@eai-d) Upid ®
3. Wi Halhg SR R
4. JUfEd Hafg SR W

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4

Question No. 25 / Question ID 901045

Marks: 2.00




According to Tobin's Q theory of investment, when should a firm invest?

A. there is increase in the price of output

B. there 1s an increase in marginal product of capital

C. there is an increase in rate of interest

D. there 1s a decrease in rate of depreciation

E. marginal benefit of investment exceeds marginal cost

Choose the correct answer from the option given below :

.B.C,D, E only
.A.C.D.E only
.A.B.D.E only
.A.B. C,D only

& cife @ Rieia & oJaR. & d B 3 (49 &g S 918U 2

A. 518 I1E ] BiFd 4 g ©

B. &d Yol & HiHd Sadred d 9fs gl

C. 9Ie 19l & H i 8

D. e e g X H HHI 8l

E. Sid a2 &1 digid ary Siaid anrdg 9 i

b =

e Laa

=14 feu 7T [ el § © 98l 3Tk &1 98- B : |

1.%ddB.C.D.E
2. PdAdA.C.D.E
3. %dd A.B.D.E
4. HddA.B.C.D

O 1 (Chosen Option)
1 (Chosen Option)




A OWOWDNDN

Question No. 26 / Question ID 901080

Marks: 2.00




Arrange the following in order to their year of establishment starting from oldest

A. The Industrial Credit and Investment Corporation of India (ICICI)
B. National Bank for Agricultural and Rural Development (NABARD)
C. The Industrial Finance Corporation of India (IFCI)

D. The Industrial Reconstruction Bank of India (IRBI)

E. Export-Import Bank of India

Choose the correct answer from the option given below :

il Sl
o~ [0
o0
N O
w W
o g

fFrafaRad o1 3o RIMM=T gy & 1R O QR 9 SRY B 3HIhH H afid Pifof :

A. YR ST B 3R Faw i (3ms I oms It emg)
B. AP SN R A fdpry d (-7rars)

C. YR SiEnfiet fad (3 T 1 o)

D. YR e 9 (35 AR &N

E. YRa[ Fald-emad

= 14U T fadedl § 9 Yol 3R &1 994 Difulu :

ple

I~.J|_-—l
e Mo
[eR =Ny

w W
MmO wg

e s
=

O 1

1
O 2 (Chosen Option)
2 (Chosen Option)




Question No. 27 / Question ID 901055

Marks: 2.00




Which of the following are correct in case of theory of sets.

A (AUuB)N(A'UC)N(BUC)=(ANBNC)u(4UBUC)
B.(AUB)n(A'uC)n(BuC)=(AnBNC)u(duBuUC)
C. AU(BNC)=(4UB)n(4uC)

D. An(BuC)=(4duB)n(4uC)
E.(AuB)n(4'vC)n(BUC)=(4NnBNnC)u(4'nB'NnC')

Choose the correct answer from the option given below :

1.A. C.E only
2.B.D. E only
3.B.C.E only
4. A.B.D only

Y=y gl & o9 | Fefifea § S eR-wr adl a2

A(AuB)N(A'uC)N(BUC)=(ANBNC)U(4UBUC)
B. (AuB)n(4'uC)n(BuC)=(AnBNnC)u(duBuC)

C. AU(BNC)=({AuB)n(4AUC)

D. An(BuC)=(AuB)n[4uC)

E.(AuB)n(A'uC)n(BuC)=(AnBnC)u(A'nB'NnC")

=< f4U U fad eyl § 9 Yol 3R &1 994 Difulu ;

1.$dd A, C.E
2.$dd B.D.E
3. ®adB. C.E
4. Hdd A, B.D




(Chosen Option)
(Chosen Option)

o O O O

1
1
2
2
3
3
4
4

Question No. 28 / Question ID 901058

Marks: 2.00




Which of the following are true in case of social goods :

A. Public goods are non-rivalry in nature.

B. Efficient provision of social goods needs a political process of budget determination.

C. Efficient provision of social goods involve horizontal rather than vertical addition of individual pseudo-demand-lines.
D. Among purely private and purely social goods. there are mixed cases which generate benefit or cost externalities

E. Individual consumers will not bid for social good, but will act as free-riders,

Choose the correct answer from the option given below :

A C.DandE only
.A. B. C and E only
.Aand B only

.A.B.D and E only

T a¥dell & HEd ¥ FHafiiad T 8 SH-0H 4 Y- 9el 87

A. oI T TR-faRiet wefa ot S €1

B. GrHII® g%l & Jhd UIay™ & (ol guie FuRu of Iaides wiegr i siawaddl sidl & |

C. JHIE a¥ 3l & qhd WIae 5 aafaa &1 STHRI 377 @1 8 aad & gore Afds i e g

D. [ag & 3 [Holl ok fave gramfoie axqsii ¥ [Misd 3Md gid & Sl arTd a1edisf 1 ary &1 Yo &d o
E. ofad SUHIedr Qi axgsii & oy dlcll el o §fch Uk &l o HdeR dl|

= f4U 7T fasedl § U Yol 3R &1 994 Difull :

2 =

e T

1. AT A.C.D ARE
2. PAdA.B.C 3R E
3. Had A AR B

4. PATA. B.D3IRE

O 1
1

O 2




2

O 3
3

O 4 (Chosen Option)
4 (Chosen Option)

Question No. 29 / Question ID 901052 Marks: 2.00
USH 7Y &1 grTeH T3 82
Adam Smith contributions are
A 4H faursH
A. Division of labour B. §@d Widwal @I [Rigid
B. Notion of increasing returns C. Uod uiawal &1 H<id
C. Notion of diminishing returns D. iﬂ'@ﬁ Tifawarg
D Dualectical Mitenaliatn . E. YIS &0 S1avge SRl 49 g9
E. Socially necessary abstract labour tume
Choose the correct answer from the option given below : A1 3T T fqeped] H H Hel STR @1 = DI
1. A and B only 1. HaAAIRB
2. Aand C only 2.Pad AR C
3. Aand D only 3.Pad AARD
4. Aand E only 4. PATAIARE
O 1
1
O 2
2
O 3 (Chosen Option)
3 (Chosen Option)
O 4
4
Question No. 30 / Question ID 901056 Marks: 2.00







It S 1s a sample space and E 1s an event then the probability axioms can be written as

A P(A)20
B. P(5)=1

C' F{D ‘4fJ_ i qu‘r}
D. P{RA]EH

Os |- %r(s)

H: P

j =1

Choose the correct answer from the option given below :

1. A and B only

2. A. B and D only
3. A. B and E only
4, A B and C only




afg s UHd WY 3R E S &1 YdiP & dl Wikddl g8 @f [og =9 | ferar o1 9&di g -

A. P(4)=0
B: p($)=1

U4|-Z 74
D. P(A4)<0

g S, } = ZI P(s,)

G P

B

== fau Tu faeedl § O Uol 3R &1 99 Difuld -

1. %ad A ARB

2. HATA.B IR D
3. HAAA.B IR E
4. PATA.BARC

1 (Chosen Option)
1 (Chosen Option)

o O O O
BA WW NN

Question No. 31 / Question ID 901087 Marks: 2.00




Give below are two statements :

Statement - I : Friedman's theory of the demand for money 1s partly Keynesian and partly non-Keynesian.

Statement - II : It 1s non-Keynesian in that Friedman neglects completely Keynes' clarification of the motives for holding money and the
corresponding components of demand for money.

In the light of the above statements. choose the correct answer from the options given below:

. Both Statement I and Statement II are true.

. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.
4, Statement I 1s false but Statement II 1s true.

-9 €l Py fAU U 8. TP SifUHYT (Assertion A) & 39 H fa7led § 1 GURI 39D HRUT (Reason R)& 3 H

|

HUBHYT A: WISTH BT Y7 P 7T BT i AP U T B9 gada! 3R 4fe F0 3 Rag gads! o1 fgid gl
HRUIR: IR-DIG THYS] T WIsHT DI & 4 [a- & TGIoH| & aviidRul 3R 49 B da1=Ul gcd Tl &I 9 a8 TPRal g
SQRIgd DY & 3HTefles o, = AU 71U fdsbedi T ¥ 9ag Sugdd 3o &l 99 Hifelg

A JRRIF TSI € AR R ADI ol URAT &
CASRREA Tol g AR R. A DI Jol IRAT 76l &
ATSI S APIR TSI AR ©

AT T AP R TE B

O 1
1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

|

L




Question No. 32 / Question ID 901065

Marks: 2.00




Which of the following is/are correct about Walrasian demand function?

A. The Walrasian demand function X (P. ) is homogenous of degree zero if X (oP. aF) =X (P. W) for any P, Wand a > 0.

B. The Walrasian demand function X (P. 7¥) 1s homogenous of degree one if X (oP. ofF) = oX (P, ) for any P, Wand a > 0.

C. The Walrasian demand function X (P. ¥) satisfies Walras' law if for every P>> 0 and W= 0, we have P X=Wforall Y€ X (P. ).
D. Walras' law says consumer fully expends his wealth.

E. If price and wealth both change in same proportion. then individual consumption choice does not change.

Choose the correct answer from the option given below :

1.A.B.C.Donly
2.B,C,D, E only
3.A.B.C.E only
4. A.C.D, E only

ARG UhTd & §R H HEfeiEd # dH-sH a1/ U T8l 6/ 2

A. TR THE P, W 3R a>0 & [T X (0P, oT7) =X (P. W) B I IERRIGA T Yo X ( P, ) Y (U1 & I 81

B. IS fdt P, w7 3R o0 & fAU X (aP, o) = X (P, W) B O TIERRET SN X (P, w) S U & Tomaig o

C. TS TP p>>0 3R w>0 P [ gHR U FH X e X (P, ) & [T P-y= g I dIeiRiRa- Tt Yb1d areiieg= Y & gy
HRAT ¢

D. AIeRY &1 (08 Dgdl § SUHE S0+l §Ya] §2 de @4 Pl g

E. Tf¢ HIAd 3R FUal g H H 3Uid # gRkac gidl § ol safeTd @ud faeed # Bl uRkac 7ol Bidl |

=< f4U U fad eyl § U Yol 3R &1 994 Difulu ;

1.$dd A, B.C.D
2.%dd B.C.D.E
3.%dd A, B.C.E
4. HAA A, C.D.E

O 1 (Chosen Option)
1 (Chosen Option)




A WOWOWDNDN

Question No. 33 / Question ID 901050

Marks: 2.00




Which of the following statements are correct about trilemma in monetary policy

A. Tt 1s related to closed economy model.

B. It involves exchange rate, capital mobility and monetary policy.

C. It arises because perfect capital mobility aligns the domestic interest rate to the world interest rate.
D. Flexible exchange rate 1s not compatible with independent monetary policy.

E. It 1s related to capital immobility and flexible exchange rate.

Choose the correct answer from the option given below :

.B and C only
. C and D only
.Aand D only
. B and E only

Hifge Hifd & Bfden & e & Fafafed § 9 -9 oY= 98l 8

A. T8 §g srforaeur Aisa ¥ Yefid g

B. S a1 & Yol ued iR Mg Hifd w2

C. T9F T BH T IR TS © [ YoiTa Fue oe saiex 3R [y o7 X I 4d QT g
D. il fafHg 2% @1 Wdd Hifad Hifd & 9y 9oy =81 &

E. T8 YSIId 3Ria-aT 3R @il faf g 3z ¥ Jafia g

= f4U 7T fasedl § U Yol 3R &1 994 Difull :

L R

1. $BaaB 3R C
2.%ad C ARD
3. BT A ARD
4. PadB ARE

O 1




O 3
3

O 4 (Chosen Option)
4 (Chosen Option)

Question No. 34 / Question ID 901047

Marks: 2.00




The BOP crisis of early 1990s made India borrow from the IMF which came on following conditions

A. Devaluation of rupee by 22%
B. Drastic custom cut to a peak duty of 30% from the erstwhile level of 130% for all goods
C. Consolidation of all indirect taxes into one tax

D. Excise duty to be increased by 20% to neutralize the loss of revenue due to custom cut
E. Government expenditure to be cut by 10% per annum.

Choose the correct answer from the option given below :

w1
2
onw
'
9
=

e

4. A,B. D, E only

1990 & GR1P P aie H YA e (BOP) Hdhe & =aid YRd P HHRIRId Idl IR HaRRIPIY o1y I JUR A1 8T

A.TYd BT 22%
B. Gt a¥d i & o 130% & dapTei- &R ¥ 30% UR S=Idd Yoo H HH1 Yeb T U el
C. GUT HUTE B DT TP B H HHTA

D. HHT Yoo Peldl & SRS U1 D [Hi%pT B3 & [0 IdTe Yeob H 20% I gl B S |
E. IRGRI 49 H 10% Al P delal o ol

= f4U 7T fasedl § U Yol 3R &1 994 Difull :

1. $ddA.B.C.E
2. $ddB.C.D.E
3.$dd C.D.E. A
4. PAdA.B.D.E

O 1
1

O 2




2

O 3
3

O 4 (Chosen Option)
4 (Chosen Option)

Question No. 35/ Question ID 901009 Marks: 2.00

Which one of the following 1s not correct about LM schedule?

. The LM schedule slopes upward to the right.

. The LM schedule will be relatively flat (steep) if the interest elasticity of money demand is relatively high (low).

. The LM schedule will shift downward (upward) to the right (left) with an increase (decrease) in the quantity of money.

. The LM schedule 15 the schedule giving the combinations of values of investment and interest rate that produce equilibrium in the
money market.

U, UH. Ysgd & aR & FefifEad § 9§ oF-a 98l 8

| S ]

e L

1. U, U, SIsgd gl 3R SR &1 SR fagadl 5|

2. IS o DI HF &1 &41S ¢ild "I0& =9 § 3{f¥ (@) Bidl § ol UeL.UH. Usya 91ig &9 I gaad (@sh) ghf

3. YA B AEATH 9iE 81H TR U9, UH. ¥sgd arl (@) SR A1 (W) 31 iR gl g

4.@@%@@@@%%1@@%@%% 3R =TT &R &1 Yo 81 § forda! aofg § g1 a9k § e g1 gidl
!

O 1
1

O 2 (Chosen Option)
2 (Chosen Option)




Question No. 36 / Question ID 901084

Marks: 2.00




As per the total revenue received by the government under the head of GST on the domestic supply of goods and services for 2021-22.
arrange the following states in ascending order :

A. Odisha

B. Rajasthan

C. Delhi

D. West Bengal

E. Madhya Pradesh

Choose the correct answer from the option given below :

h'.lh'JlIJn
rt-n:v-m
L:J:br‘:bd

A
;D
.D
.B

Lo b
O wmg

¥ 201 z:ﬁ X311 @ H STfd SR Harsil U= off TH 21 & Y & Sfid URA SRPR 3 U] Bl U $l Aoied & HYR TR
g Dl RIS pH H ogdiyd Hifofg:

A, 3ifsar
B. I

C. feeal
D. Gi&H sre
E. 58 Ua¥l

= feu T faeedl § O Uol 3T &1 994 Difelu .

sl
W
s B
3

:r>r'::1=~m
O N
b:luu:r:-

e S
N wmg

O 1 (Chosen Option)
(Chosen Option)
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Question No. 37 / Question ID 901075

Match List I with List II
LISTI LISTII
A_ |Central Bank Loss Function| T Yp=Ad-an
B. PMonetary Rule (MR) LI/, =mn_+ (I(_l-'l, — J':e]
‘ 1 : = r
C. |Phillips Curve (PC) I1I. (JJI = vlf'(,) =— &B(ﬁ{, =1k )
D. [Dyvnamic IS Curve IV.|L :h'r - }: + Ift[rl:lr - H;-r

Choose the correct answer from the options given below:

. A-IIL B-III. C-IV. D-I
CA-IIIL B-I1L C-IV. D-I
. A-TIV. B-III. C-II. D-I
CA-TV. B-IT1. C-1. D-II
O 1

1
O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

a —

e Lad

Marks: 2.00
et 1 31 I 1 @ e Fife
il S 11
A [Hed ds dg haE| L [V, =4 —an
B. (s fmaom) |IL|n, =7, +t:1(,1;1r —Jf;,]
C. [thfees aeh T o) 1L (J’rh)“‘“ﬁ(“r‘“r)
D. [SHHE® 1S b @[ IV. | L =( v, -.1',.l: +B(x, '-“rllz

A fg 1T famedt | J Uet SR &1 99 S -

bl =

e

CA-IL B-IILL C-IV, D-I
AL B-IIL C-IV. D-1
ATV, B-IILL C-I1L D-I
ATV BAIIL C-1L D-II




Question No. 38 / Question ID 901067

Marks: 2.00




Match List I with List IT

LISTI LIST 11

A [Kleins rule of thumb I. [Structural break

B. [Ljung Box (LB) statistic|] II. |Unit Root

C. [KPSS II1. |Significance of autocorrelation coefficients
D. |Bai-Perron IV. Multicollinearity

Choose the correct answer from the options given below:

1. A-IV. B-III. C-II. D-I
2. A-IV. B-III. C-I. D-II
3. A-IL. B-IV. C-1. D-III

4. A-II. B-III. C-IV, D-I

Tl 11 9=l 11 9 i Sifeg

oo @1 srdeie Bsid ]| 1 [Blar fqueH

| 1L [gHe =¢

' [kpss @ U tH T 111 [%d g T[UNie & YIRAd] Hed
fe3-ui= V. [Aeiopifc=aiet @geEaan

fAgfafad fawedi O I 9et 3T &1 99 Difuld ;

:

1. A-IV. B-III. C-II. D-I
2. A-TV. B-III. C-1. D-II
3. A-I. B-IV. C-1. D-III
4. A-IL. B-III. C-IV. D-I
O 1 (Chosen Option)
1 (Chosen Option)

O

NN




Question No. 39 / Question ID 901063

Marks: 2.00




Which of the following constitutes India's strategy to combat climate change in the backdrop of its stand at the 26 session of the
conference of the Parties (COP 26) to the UNFCCC held in Glasgow. UK.

A. phasing out of coal-based thermal power generation by 2030.

B. reduction of the carbon intensity of Indian economy by 45 percent by 2030. over 2005 levels.
C. capping Indian economy total final energy consumption i absolute levels.

D. achieving the target of net zero emissions for India by 2070.

E. promoting lifestyle for environment to combat climate change.

Choose the correct answer from the option given below :

1. A. B. D only
2.B. C, D only
3.B.D.E only
4. C.D.E only

A gAECS (188 § HIIfed UNFCCC & U&HRI & JRIdH (COP 26) & 26 d 5 H [oU 7T vl &1 gy § fHafafad
DH-BF Y Y Taar] URA0T 4 S B HRd B 011 0 581 87

A. 2030 T DT YR AU FHoll I1GH DI g BT

B. YRa1g fIeqawy] & BIa- g H 2005 D a3 B qa1 5 2030 TP 45% AP DI Bl BT
C. YRAMG Sfdoa®yl & oa ifaq Soll @ud &I HRus TRl R AP

D. HRd & AT 2070 T [Had YA ol B A&7 I DA

E. Siadrg Ukdc 9 @S- @ (¢l UdaRyl gd il <dl &1 §gH |

=d f4u T fadedl § T Hel 3T &1 994 Bifolu ;

1.$dd A.B.D
2. %$ddB.C.D
3.%ddB.D.E
4. $addC.D.E




(Chosen Option)
(Chosen Option)

o O O O
BA WWNON oo

Question No. 40 / Question ID 901038

Allocation of budget for Ministry of Agriculture and Farmers' Welfare in the Union Budget 2023-24 is

. 2.25 lakh crores
. 1.25 lakh crores
. 1.78 lakh crores
. 1.68 lakh crores

DT golc 2023-24 § HY U4 [ S HAT g Sdfcd Bi Tg AR 82

a0 I

225 G TRIS
. 1.25 TR RIS
. 1.78 TG IS
. 1.68 TR RIS

1 (Chosen Option)
(Chosen Option)

I =

e Lo

O O O O

1
2
2
3
3
4
4

Marks: 2.00




Question No. 41 / Question ID 901040 Marks: 2.00

Prevention of Money Laundering Act was enacted in the year

. 2001
. 2002
. 2003
. 2004

3HaY ¥ oI AHYM (UETH 1% T qifem) Hfaa o fow oy o siffafa foear man e

Fa =

o Laa

.2001
. 2002
. 2003
. 2004
1 (Chosen Option)
1 (Chosen Option)

R U S g
o O O O
AP WOW NN
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The book entitled. "Why Nations Fail: The Origin of Power, Prosperity and Poverty" has been written by,

. Abhijit Banerjee

. Daron Acemoglu and James A. Robinson
. Amartya Sen

. Joseph Stiglitz

"Elg 19 B, & AR 3 glar, YUl uus urael” =19 Xve gl Yeas ol fddd gRI foar 11 82

B e

e L

1. fHford st

2. GRM TFHR SR o U, e84
3. 30 94

4. WG et

1 (Chosen Option)
1 (Chosen Option)

o O O O
B WW NN
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Which of the following are recommendations of the Narasimham Committee. 1991.

A. Deregulation of the interest rate structure.

B. Need for greater use of information technology.

C. Permitting only private sector banks to access the capital market.
D. Freedom to appoint chief executive and officers of the banks.

E. Capital adequacy norms were implemented in stages.

Choose the correct answer from the option given below :

.A. B and E only
A, Cand D only
A.Dand E only
C.D and E only

Tign 9fffa. 1001 ot Ffafaa 0 @ oF-F 9 e g .

A SToeR 31 Bl faf-ga
Y1 U1 1 3Hf¥e TR & STaegedl
c ﬁﬁﬂﬁﬁﬂ%ﬂ%éﬁﬁqﬁlgﬁmwaﬁwl
D. 4| & g BBRI SR HUHRI Hgad B B HTrg]
E.@ﬂwmﬁmuﬁmﬁﬁwﬁﬁwﬁ?{waﬂl

= f4U 7T fasedl § U Yol 3R &1 994 Difull :

B

1. $PadA.B IR E
2. PAdA. CARD
3. HadA. D IR E
4. PAAC.DARE

O 1 (Chosen Option)
1 (Chosen Option)

O 2




O
O

AP OODN
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Which of the following holds for Bertrand's Duopoly model.

A. The reaction curves are derived from isoprofit maps which are convex to the axes.
B. The point of intersection of the two reaction curves reflects a stable equilibrium.

C. The reaction curves are derived from isoprofit maps which are concave to the axes.
D. The point of intersection of the two reaction curves reflects an unstable equilibrium.
E. Firm's behavioral pattern is such that they learn from past experience.

Choose the correct answer from the option given below :

. Aand B only
. C and D only
.A.DandE only
.B. C and E only

frafafed 0 § -9 a¢ s ydig Aisd & (U 981 &

A. UfAfshan 9 @Y STy BFRET 3 9T Sidl © off 318 & Bl gl
B. 3l Udichal g @13l &1 Hid=sq fdg o &1 ax1 &l g¥idi gl

C. Hiaferar ae @Y Saary IERE! 9 Wi sidl @ o siéff & uiadd gidl o |
D. &I Hfafsrar adb @13l &1 U= [dg R dqa- & axfdr g

E. B8 o] oudeR Jal Ue U fds o fqand srya 3 dad g

= feu e fased] § ¥ gel 3Tk &1 994 Diforg |

2 =

e T

1. %ad A IR B
2.%ad C AR D
3. Had A. D 3R E
4. $AdB. C IRE

O 1
1

O 2




2

O 3
3

O 4 (Chosen Option)
4 (Chosen Option)
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Give below are two statements :

Statement - I : The terms of trade of a nation are defined as the ratio of the cost of 1ts export commodity to the price of its import
commodity.

Statement - II : The terms of trade of the trade partner are equal to the inverse of the terms of trade of the other nation.

In the light of the above statements. choose the correct answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II 1s false.
4, Statement I 1s false but Statement II 1s true.

= 3l Py AT U &

HY 1 Tl X & HTIR P Td 3P| Haia axgel] B AN SR 39®| SHATd a¥qedl & Ged & &4 J gRuING 31 o1l |
HY I1: YIRS TSGR B IR Tdl, 37 32 P IR Ll & Fideld & SRI6R okl o

SIRIFd DYH & 3HTclle o, = U T fdpedl T T Tad Iugdd 3a &I 947 DIfT;

|

SWRIGd DY & 3l 1, i 4T MU [ddedi § I Ta¥ IUgad I DI 94 DI

HYTI AR 11 EH el §
HYF 1 AR I SH Tad §
 HYT1 el 8. A HYF 11 7Tad §
. HYF 1 7Ted ©. AfdeT DY 11 9ol §
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)

O 3
3

|

L
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Arrange states in ascending order based on loans from the central government for the year 2020-21

A. Karnataka

B. Madhya Pradesh
C. Tamil Nadu

D. Gujarat

E. Maharashtra

Choose the correct answer from the option given below :

o =
0w O
W O W
> O U
o >
™ ™

B.C.A.D.E

gy 2020-21 H Hg WHR G U BN & YR R IoT] BT 3ARia! HH H Tadd HIfolg:

A. HAlCH

B. H Hadl
C. dff@ g

D. TRId
E. HERMg

A Ty e famed! ® § el 3R &1 98- Pif -

e Laa




O 3 (Chosen Option)
3 (Chosen Option)

O 4
4
Question No. 47 / Question ID 901006 Marks: 2.00
. a1 B Hifad YR 941 82
Monetary base of an economy 1s,
1. Amount of currency held by public and by the banks as reserves. }J Sl SR gq}ﬁl &I : Tﬁ_{mﬁ Biag 3= PIAR
2. Amount of currency held by public and demand deposits. 2. Al &Ik sl HIT
3. Amount of currency held by public and time deposits. 3. S G Hika HalX 1 31k whg fe
4. Currency deposit ratio. 4. Hal BEE STHYId
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4
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Pillar 1 of Basel III norms focus on

A. Quality and level of capital

B. Risk Coverage

C. Containing leverage

D. Risk management and supervision
E. Market discipline

Choose the correct answer from the option given below :

1. A and B only
2.B and C only
3. C and D only
4. D and E only

o O O O
WW RN =

4 (Chosen Option)
4 (Chosen Option)

9 111 UidqHl & fUeer 1 |6 foog ) aa= fgr man

A. Gl 1 T[0raT 3R &R
B. SIIRaY 331
C. IAIT U= H a1

D. Sf@H U&= 3R Tdaamr
E. S9R SR

=d fqu T fasedl § I Hel IR &1 994 Difolt ;

1. %ad A AR B
2. HaAB AR C
3. %dd C IR D
4. $aAD ARE
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et 11 gt 11 ¥ fiaH
Match List I with List IT -‘T'ﬂ. I ql-—q"f I
YR & TTHEAT Ifes X B TP CEIE
LIST I (Tvpe of India's population growth rate) | LIST II (Period) A Eﬁﬁﬁq@ T 19812011
A |Rapid High Growth I [1981-2011 ' . ' -
B. |Stagnant Population II. |1921-1951 B R T e e £ 19% el
C. [High prowth with definite signs of slowing down] 11 [1951-1981 C. B giw & HI3d Fobdl & WY | 111 [1951-1981
D. [Steady Growth IV. [1891-1921 D. [gdd df& IV. [1891-1921
Choose the correct answer from the options given below: "GidRad fdpedl 4 I Uel 3tk P 98- P i\lflf{ z
1. A-IV. B-IIL. C-III. D-I 1. A-IV. B-I1. C-III. D-I
2. A-IIL B-IV. C-1. D-II 2. AL B-IV. C-1. D-II
3. A-IIL B-IV. C-II. D-I 3. A-TIL. B-IV. C-II. D-I
4. A-IV. B-III. C-II. D-I 4. A-IV. B-III. C-II. D-I
O 1
1
O 2 (Chosen Option)
2 (Chosen Option)
O 3
3
O 4
4
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In which of the following year IMF has set up the Extended Fund Facility (EFF) to support member's structural reforms to address balance
of payment difficulties of a long term character.

. 1974
- 1997
. 1963
4. 2009

frafarad fog ad o, s, T, U, A Srdardi= [GRivdr (i) aret YaH e Sieagdl I SRaHIde URT &1 FH14H B
o Yol &1 HgIdl & AU fawaiivd &1y gfaun (g U U%) &1 -a-1 &1 A

J —

=

. 1974
. 1997
. 1963
. 2009

O

B R

1

O 2
2

O 3 (Chosen Option)
3 (Chosen Option)

O 4
4
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